Phép nhan cac da thuc

(3% + 3)(7x +9)

(8% + 2)(5x — 3)

(8x> — 9)(5x + 7)

(5x— D +Tx+7)

(9% — 5x — 5)(6x — 9)

Ngay thang: Diém:

(6— 9% (8x — 4)

2+9I%)O9x+1)

(4x° + 4x + 4)(6x — 8)

(9x + 6)(4x* — 9x — 9)

2 -3 (5x— 9)
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Phép nhan cac da thuc

Tén:

(3x% + 3)(7x +9)
21%° 4 27%% + 21x+ 27

(8% + 2)(5x — 3)
40x° — 24x* + 10x— 6

(82 — 9)(5x +7)
405> + 56x% — 45x — 63

(5x— )% + Tx + 7)
5¢ + 34x% +28x— 7

(9% — 5x — 5)(6x— 9)
54x° — 11122 + 15x + 45

Ngay thang: _ Diém: _

(6— 9 (8x — 4)
—72x° + 36x% + 48x — 24

2+99%)(9x+1)
81x% + 27x+2

(4x* + 4x + 4)(6x — 8)
245> — 8% — 8x— 32

(9x + 6)(4x> — 9x — 9)
36x° — 57x% — 135x — 54

2 -3 (5x—9)
—15%> + 27x% + 10x — 18
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